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1 |&iLET 82.87 |#gLLET 19.21 (e 14.3 |EBRA 45.9
2|tpz=ay 82.24 | AR 18.75 |E+ R 14.2 |WgiLET 44.6
3|mnm 82.23 |dLAwH 18.74 |&mh 14.0 [/NIIET 39. 1
4|amh 81.94 |fRzsET 18.69 | &L v=ET 14.0 | & EhvhET 39.0
b sl 81.90 |fHBET 18.62 |egrar 14.0 |/NEEZFET 38.2
6leer B 81.90 |JB&H 18.58 | AR 13.9 |EifSEr 37.1
7 |#gsmr 81.88 [EMAT 18.58 | 13.8 |#i4HT 36.1
8|Ltrm 81.86 |FIkTH 18.58 | 13.8 |esErmr 36.0
9|xAT 81.85 |JIl&ET 18.57 |FiiR 13.7 | &8r 34.9
10| AR 81.84 Ml 18.56 |#@)ITH 13.6 |5 RAT 34.4
11 |x&® 81.83 |fusEAT 18.54 |= 48 13.6 | & = 1LAT 32.8
12|sEm 81.82 |BRAET 18.51 @& 13.5 |%&FH 32.7
13|mam 81.80 |EATM 18.48 |={RHET 13.5 |i&#amT 32.0
14| & =% 81.79 |AR™ 18.47 o 13.4 |&E8r 32.0
15|nner 81.78 |=3HT 18.43 | LB 13.3 |mLiET 31.9
16|5RF 81.78 |AEMH 18.42 |waw 13.2 |#RH 31.8
17wl 81.78 |#@)IH 18.38 |HATH 13.2 |[B&™ 31.3
18| =er 81.73 |&FET 18.33 |& B &R 13.2 | #1187 31.3
19|/riR 81.71 |#FH 18.32 |5 CaEm 13.2 |k FET 31.1
20|=m 81.69 [/INIIET 18.30 |/NEEEFAT 13.1 [deATH 30. 4
21 | 81.65 |B&E® 18.24 |#HE™ 13.0 |EEHT 30.3
22|F N 81.63 |88~ BT 18.24 |fpz=mr 12.9 |8RaET 30.0
23| = 1cET 81.61 |@m@m 18.24 |ZEHET 12.8 |EfRET 29.8
24 | miLEr 81.61 |HA{RET 18.21 |seam 12.7 |47@TH 29.7
25|:& 1T 81.53 |E{tHT 18.21 [#MATH 12.7 |geld 29.2
26|/ 81.46 | LR 18.20 | =387 12.6 |AEH 29.2
27 | A 81.44 |{REH 18.18 (&2 1LHT 12.6 |HAT 29.0
28 |srae 81.41 | 18.15 |ty 12.6 |mZE 28.8
29|a&E 81.39 |&E™ 18.13 |RlILIET 12.5 |JB&H 28.4
30| s Lasmm 81.37 |EHALTT 18.12 |ig#amr 12.4 |&EB&H 28.3
31|@nm 81.33 |F)I 18.11 [Beld 12.3 | AR 28.1
32|/ e ET 81.32 |mZEMH 18.06 |/\igih 12.3 [P 28. 1
33|mET 81.29 [&LV=FH 18.06 |FmETH 12.2 |@aHh 21.5
34| &R 81.28 |/NEREFHET 18.06 | Ak 12.1 |senh 21.5
35|z m 81.25 | & B ILET 18.01 | & = pihfr 12.1 |E#Ls 27.4
36| & =pihmr 81.24 |HiEEM 18.00 |&ifsmr 12.0 [#AMRET 21.3
37| Lzar 81.21 |JIlgwm 17.99 |B@aw 12.0 [fRE 27.2
38|/\#H 81.18 |HEQHH 17.96 W& 12.0 |#8y BT 27.1
39|mam 81.16 |f7EM™ 17.93 [P 12.0 [#@IIH 27.1
40|z = 81.12 |t R 17.93 sl 11.8 | LE2Ar 26. 4
M|E=LR® 81.11 | 17.88 |FhI 1.8 |XEM 26.4
42| FEr 81.11 |:BJIET 17.88 |B&E™ 1.7 | =38 25.8
43| =i 81.04 | - =AT 17.84 |&Far 1.7 |am@EH 25.8
44| =87 80.98 |Enih 17.84 |/i1ET 1.4 | LB 24.9
45|sEam 80.92 |5 LB 17.84 |tRaET 1.3 |FiR 24.8
46|=Fm 80.87 |HHEARH 17.77 |AEH 1.2 |S8iH 24.7
4]|Fmm 80.87 |ZFEAT 17.77 |4k 1.2 | 24.3
48|= = Ler 80.75 [/\#AT 17.74 |@m@H 1.2 |@am 22.9
49| o 80.74 |KEmTH 17.711 s B 1.1 | 22.7
50|mam 80.66 |LLLIET 17.67 |5&)18r 1.0 | A CaEm 22.4
51| Eiwer 80.64 | 17.66 |#fxaEr 10.9 |[FhI 22.1
52|zam 80. 62 |5 E7Hy 17.64 |£FH 10.9 &AW 22.0
b3|Fam 80.59 |& =ASHET 17.60 |ERBRH 10.9 |ExR™ 21.7
b4 s 80.58 | RHET 17.59 |EE#T 10.8 |Emn 21.7
b5 |&E 80.49 |BaH 17.57 |f7@H 10.8 |fRZ=fr 21.5
56|#7@mh 80.36 |=4b 17.52 |11 =87 10.8 |3@)IET 21.2
57|25 80. 14 |B&H 17. 41 [sgilifr 10.7 | =% 20.9
58 |#a K Er 80. 11 |AFEMH 17.35 |mzam 10.6 (A 20.3
59 |ERAr 79.72 AT 17.27 |&RAEr 10.2 [J\#ih 19.8
60 |x==dr 79.04 |FEH 17.26 |#)11Er 10.1 |gre 19.8
61 |#zmaEr 78.90 |f&isamr 16.61 | LEar 9.7 |&E™ 17.5
62 |#1Er 78.21 |#h)IIET 16.19 |mes 9.5 |Fukr 16.0
63| st 77.13 |E£ERT 15.59 |#nske 9.0 |FEM 15.1
BER 81.42 [HES 18.03 |HER 12.9 [#ER 24.2
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1 |#nske 88.37 |FIkTH 21.69 |B%R™ 24.0 |EHBRH 49.1
2|&AT 88.06 |ABLLET 21.65 |g& 23.2 |AgILET 48.8
3|&nar 87.90 |[EAMH 21.58 | AR 22.1 |/NEEERET 45.1
4|Emh 87.81 [l 21.56 |&L-FEm 22.0 [/NIET 4.9
b|sel 87.78 |B&E™ 21.54 (58T 21.8 | & &=hShHET 43.9
6|=ar 87.77 | AR® 21.49 |87 21.4 | E#9HT 43.5
T|am 87.75 |:&)IIET 21.49 |&dsar 21.3 |25y 43.2
8lsLamm 87.70 | EEET 21.41 |FrR™ 21.2 |#EHET 4.1
9| 87.69 |5 LS 21.31 |#@IIH 21.2 | BET 40.5
10|meem 87.67 |& EhthHET 21.30 |F@ET 21.1 |ERET 39.0
11 |4 87.63 |ZFH 21.29 |#hiEEm 21.1 |£FH 38.9
12| & =% 87.63 | aemr 21.28 |E+t R 21.0 |E£2LET 38.5
13| ser 87.62 |AR™ 21.25 |/NEEEHAET 20.9 (R 38.3
14| = 18T 87.62 |8REE 21.24 |ZEH 20.9 |ZEHE 38.0
15|FR 87.62 |dbAm 21.23 | 20.9 |t&#EAT 37.9
16|/ ET 87.60 |@krh 21.20 |nowm 20.9 |EEET 37.8
17|ax& 87.59 |=38r 21.20 | LR 20.9 |#LLAT 37.8
18|mxm 87.52 |#IIH 21.19 |#ES 20.8 |#ZFHET 36.5
19|&™® 87.51 |&iEEm 21.19 |E#RH 20.8 |BE™ 36. 4
20|mE 87.48 |mBgE® 21.19 |&m 20.5 |E{ET 35.8
21 |mz 87.40 (&A™ 21.15 |sesm 20.5 |{TE™ 35.8
22| /@ 87.37 |/MIIET 21.15 |5 L#HHH 20.1 |#)IET 35.8
23|ma 87.36 |/NEEZFAET 21.15 [/NIET 20.0 |dbA&T 35. 4
24| 87.33 |mam 21.14 |EAH 20.0 |BeIl 35.2
25| Ara 87.31 |@m@m 21.13 @™ 20.0 EETMT 34.9
26|=tR™ 87.29 |g8y BT 21.13 |@am 20.0 |BREE 34.9
27 |5 Rer 87.29 |f7ET 21.12 |=4kET 19.9 |E BT 34.4
28|z 87.28 | &L \oEH 2111 | KT 19.9 |AEH 34.0
29 (e~ BT 87.28 |EHALTT 21.05 [\ 19.8 [P 33.9
30| g 87.25 |@EMAT™ 20.99 |#ad 19.8 |mZET 33.6
31 |=mr 87.25 |AEM 20.98 |#RAET 19.6 |men 33.6
32|/ e ZrET 87.24 |)I| &ET 20.97 |S4bH 19.5 |FA{RET 33.5
33| LB 87.23 |tRE™ 20.96 |mZE™ 19.4 | ARIH 33.3
34 |ram 87.20 |E5ERET 20.95 | &R & 19.4 fRE 33.2
35|;RF 87.19 |#isEHT 20.93 |SAALTT 19.3 |mB&H 33.1
36|Fm@ 87.18 |&Ih 20.92 | & & hihEr 19.2 [#@IITH 32.9
37|=Fm 87.16 |HA{RET 20.92 |#sEHT 19.1 |®aHh 32.9
38| & 87.14 |femTh 20.90 |EEHT 18.9 |E#LT 32.4
K NE# N 87.13 |fRZHET 20.88 |AE® 18.8 |&FEM 32.3
40|z m 87.13 |EtHT 20.87 |mLILET 18.8 |85 BT 31.7
A B 87.12 |#IIET 20.85 |#FHT 18.6 | LT 31.7
42 |tRke 87.10 |/\#h 20.85 |/\#H 18.5 | =31 31.6
43| FEr 87.00 |BR 20.82 |f7E™ 18.4 |Bm@EH 30.7
44| & =pihir 87.05 |mnZEM 20.82 |@m@E® 18.2 |FiiR 30.3
45 s um 87.05 [BA&H 20.81 |11 &ET 18.2 | LBW™ 30.3
46 |+T@EH 87.04 |KFET 20.80 |{RZHET 18.1 |S%h 30.0
47 | # iR Er 87.02 |Emnh 20.79 |#ARET 18.1 [ 29.9
48| o 86.99 |EEARH 20.75 |[|RE™® 18.0 |HFEET 28.6
49|sEam 86.95 |JIli& 20.75 |dEAd 18.0 |5 CHEm 28.3
50|&m&m 86.86 |=4bth 20. 71 | =387 17.9 |#am 28.3
51 |=#h 86.85 |12 FHT 20.71 &) 17.8 |&AWH 27.7
52 | 86.85 | W& 20.67 |l 17.8 |&mih 27.4
53| eurEr 86.77 |ZEHET 20.64 | B LAT 17.7 |{pz=fr 26.9
b4 |#Er 86.75 | LR 20.62 | RAT 17.1 |Fh 26.6
55| Fiwar 86.67 |E 2B ILAT 20.61 |B&™ 16.9 |[E+ R 26.2
56| L =ar 86.54 |mLLLET 20.61 |=FH 16.9 | 26.2
57|55 86.51 (o 20.57 |@&4 BT 16.3 (A 25.7
58 | il 86.18 |Et R 20.53 | E2AT 16.0 | &L =%h 25.5
59 |ng1LiEr 86.03 |FEM 20.52 |pEgH 16.0 |/\# 25. 4
60|= = 1L#T 85.83 |&HA & 20.51 |#)iET 15.7 |sBNIET 25.3
61 |4z 85.33 | RET 20.36 |Fuser 15.7 |EAE™ 21.7
62|x==8r 83.49 |H#HAAT 20.29 |:&)IET 15.5 |#0keh 20. 4
63 [mrast 82.56 |EEHT 20.16 |#gLLET 14.4 |F@AH 18.5
BER 87.35 |HER 20.99 |HER 2.1 [HER 29.5
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